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Time : Three hours Maximum : 75 marks
SECTION A — (10 x.2 = 20 marks)

Answer any TEN questions.

1. Define Management Accounting.

Cuararen samsHlc e LsSmes S(Hs.

2. Give any two demerits of Management Accounting.

Cuarareny sarddwelan Gapurhias gGsab @ram® Sms.

B4 What is common size statement?

QUITE DH6TeY DS GTETHTED GTCITEH ?

4.  What is trend analysis?

Cund@ LGULMLe| eTemmTed cTeie ?

5. State any two advantages of ratio analysis.

efldlgls Li@gLiden Bamanoaar FCs@ID G Tarh S(Hs.

6. What are Profitability Ratios?

Qeru s aaTLg) Wwg?

7.  What is leverage ratio?

QpLUGCsTD eflflsd eremmmed eTeimer?

8. What do you mean by sources of funds?

Bl saflen <psMrRigeT eTenuSled 2 argl &HSS WITG?




10:

11.

12.

13.

14.

15.

._.@U._nr&g; oLt é{,ﬂﬂéi@nasuﬂ]siﬂ BETGHLOGET q(gg)@m @UGUUTG) o

What is working capital?

HEOL(PEDD CLPGUSETD GTETDTE) GTEhTEn ?

What is flexible budget?-

Gpdlipe) eurey Qemey A Lib CTEITMTE) GTEITET ?

What is make or buy decision?
CFL ez kS 1plqay GTGHIMITED GTEHTGHT 7
SECTION B — (5 x 5 = 25 marks)
Answer any FIVE questions.
What are the objectives of Managément Accounting?
Guoemaimen o seamrdd wed) e Crrésmiser wreel ?

Explain the nature and significance of financial statement

analysis.

B9 é@]é;ema; pleler gemeno  wHmILD W&Slusgieusms
efleur.

Given the following figures : i
Rs. y
Sales = 15,00,000

20% on sales

‘Gross profit
Current assets = 4,00,000
Current liabilities = 2,00,000
Fixed assets (Gross) 5,‘00,000
Less : Depreciation 1,00,000 4,00,000
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Calculate :
(a) Capital turnover ratio
(b) TFixed assets turnover ratio

(¢) Working capital turnover ratio.

Qsrensser Lemel(BLOTDI QarpésuuL(bHeTarg.

€.
puenen =  15,00,000
Qg @enub e 20% efpuiean Bg)
pLLILE Qersgisadr = 4,00,000
L] GUTDILILSET = 2,00,000
Hlenew d&rrg)gjésa;m (Qrgsibd) 5,00,000

sPES ¢ Gaulmenid 1,00,000 4,00,000
sasS(HS & -
(=) apseian spHs Ndsd
(<) Blave Clanss) FpH& efl&lgd
(@) BOL(PE®D CPDSET Fphd AEs0.

16. From the following Balance Sheets of a company, prepare,a

statement showing the changes in working capital.

Liabilities 1999 2000 Assets 1999 2000
Rs. Rs. Rs. Rs.

Creditors 7000 4,500 Cash 3,000 4,700

Capital 20,000 25,000 Debtors 12,000 11,500

Profit and Loss A/c 1,000 2,300 Land 5,000 6,600
Stock 8,000 9,000

98000 31,800 98,000 31,800
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Qemeumd e Hlpeuarsdler Q@uy Hlaved @dllmus CsTear®h
BanL_(pepD epsarsHled eHuID LD.rr'r_i')'[D'Q")GU_)g; ST Plsamseanw

swrflés. ‘

QumyiyseT 1999 2000 O&msEIseT 1999 2000

U {Th- . €.
sLaipGEai 7,000 4,500 Qymésd 3,000 4,700 '
(DS | 20,000 25,000 sLamailsdr 12 000 11,500
@eomu prL 1,000 2,300 Hleow 5,000 6,600 '

&/

sr&AmUY 8,000 9,000

28,000 31,800 28,000 31,800

17. Compute cash from operations from the following :

Rs.
Net Profit for the year 2006-07 80,000 :
Depreciation written off on Fixed Assets 11,000
Profit on Sale of Building 22,000
Loss on Sale of Machine 13,000 £
Increase in Current Assets (except cash) 46,000

Increase in Current Liabilities 29,000
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Wereupaiarelpans Qsram@ QrréssHear epawrar QauwedUm L

wHUEGHs.
@.
| 2006-07 1 @y@m perar &7 oD 80,000

Plevavd Qensdlan B Cumse awdw Cswioreand 11,000

sligt ellhuemenr (l,oevmrrcﬁ @emuib 22,000
Quipdly epuenen epewrar HLLLb 13,000
saqWw pLUIY Qersg (Arrést Brisons) 46,000
Folg LI ;r)l;uu Qurmtiysar 29,000

18.  From the following figures, prepare raw matérials purchase

budget :
Material (units)
I
A B C D |
Estimated opening stock 16,000 6,000 24,000 2,000 |J
Estimated closing stock 20,000 8,000 28,000 4,000 |‘7
Estimated consumption 1,20,000 44,000 13,200 36,000 |

Standard price per unit (Rs.) 0.25 0.05 0.15 0.10 ||
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Wleiraupid Ggrenssamerds Qarar® ol QUTBLseiar GsTeaTLpsd
ey tewe| L sms swimhss.
p

QUL g6 (i @seten)

A B C D

WA LU L ybu &5 16,000 6,000 24,000 2,000
LHLGLULL @nidl s76@E 20,000 8,000 28,000 4,000
b iul L msiay 1,20,000 44,000 13,200 36,000

PO S@GssTan Hlesewirar 025 005 015 0.10
eflenav (¢m) :

19. From the following details, state which product is more

profitable to manufacture? Assume, time as the key factor.

Product — A° Product—B

Per unit Per unit
Rs. Rs.
Materials 24 14
Labour (Re. 1 per hour) 2 3
Variable overheads (Rs. 2 per hour) 4 6 ‘
Sales price 100 110
Standard time to produce (in hours) . 2 ¥ . 3
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Geraumid ssadsmears Qsran( ahs @O QumreT  OTUSMS
saflE@bugwrer 2 pusdlauw Qanem@perats? Cpdams (&AW
gryaiwurs whHiss Qeners.

Qummer — A Qumrper ‘B

0 S0E 20 VG

- {1b-
QumpL&er | 24 14
o iptiy (@@ wall&E W 1) 2 3
wryurh GCuoplewal ‘ 4 e
(@ wallse - 2)
pueean eflena 100 110
o pusdssran HybHST Cé(r_r;qfo (pasiaseien) 2 3

SECTIQN C — (3 x 10 = 30 marks)
Answer any THREE questions.

20. Distinguish Management Accounting with Cost Accounting.

Coorarambs sanédume <L és  elows SaméE gL 6T

 CauguhEss.

21, From the following data, you are required to calculate the trend
percentage taking 2001 as base year :

(Rupees in ‘000s)

Year 2001 2002 2003 2004
Cash 100 120 80 140
Debtors 200 250 325 400
Stock-in-Trade 300 400 350 500" .
Other Current Assets . 50 75 125 150 |
Land 400 500 500 500
Building ' 800 1,000 1,200 1500
Plant 1000 1,000 1,200 1,500
Total 2850 3,345 3,780 4,690
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22.

MeeuBd  saHeuDSmeaTHG S TER(H) Cumsg  Afssms samrsd

eamaflLb  Garpuu@aps. 2001- v D ETL_ITS;
Thgg &LsmareTeyLD. 5
(emumuies ‘0004b)

b e (h 2001 2002 2003 2004
Clymésin 100 120 80 140
&L_araflser 200 250 325 400
ellhLenar &y mriy 300 400 350 500
o By Qenggiser 50 75 125 150
Hlaw 400 500 500 500
sllgl b 800 1,000 1,200 1,500
Glumg) 1,000 1,000 | 1,200 1,500
o (Higed 2,850 3,345 3,780 4,690

From the following information presented by Ram and Co. Ltd.,

for the year ended 31.12.90, prepare the balance sheet :

Sales to net worth — b5 times
Current liabilities to net worth - 50%
Total debts to net worth 60% :
Fixed assgts to net worth 60% . ) }"
Current ratio 23l
‘Sales to stock 10 times
Debtors velocity 9 times f
Annual sales
(40% of sales were made for cash) Rs. 15,00,000
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Gemeumd 1md & SbQLe AL iger elluigtisanars Qe

31.12.1990 b " prGerm(p ey Y@rhisstar @iy Hlave
. B
GhluenL surfes:

@ﬂ@ummé;ssrrm Blasr udy - b wepser .
By Qurgitiyssrear By wdiy - 50% |
errgg, SL S @Ehdsar ﬁa;u gl - 60%

Qurss Q&ﬁ§§]$5@$5ﬁ6ﬂ Bsr ooy - go%

B eildlgin = 21

Apuemanemhe F16EEE ~ 10 wepsar

SLMeNSE QUL e9dgLh - 9 pepser

<& ellhuener
(40% epueer Qrse
SlglueLemws AsrarLg) €. ‘15,00,000 |
23. The following are the summarized Balance Sheets of

Repco Industries Ltd., as on 31st December, 2009 and 2010.

Balance Sheet:

Liabilities 2009 2010 Assets 2009 2010 ¢
| Rs. Rs. Rs. Rs. - }
Capital: Fixed Assets 41,000 40,000
7% Redeemable Less : Depreciation 11,000 15,000 .
Preference shares — 10,000 30,000 25,000 |
Equity shares 40,000 40,000 Current assets :
Gener_gl reserve 2,000 .2,000 Debtors 20,000 24,000
Profit & Loss Account - 1,000 1,200  Stock 30,000 35,000
Debentures . I'G,OOO 7,000 Prepaid expénses 300 500 IIII
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Liabilities 2009 2010 Assets 2009 2010
Rs. Rs. Rs. ) Rs.
Current Liabilities : Cash 1,200 3,500
Creditors 12,000 11,000

Provision for bad debts 3,000 4,200

Proposed dividend 5,000 5,800
Bank overdraft 12,500 6,800
81,500 88,000 81,500 88,000
Prepare :

(a) Statement showing changes in the working capital.
(b) A statement of sources ahd applications of funds.
QruGsr GQsmfipgme &SBQL 1 g6 31, gebuf 2009 @b

2010-10  ypaw@sEnssTar &GsHAL - Qmuy  Hows  GHluy
QetreumLomm;:

; oy flmews @iy

Qumginser 2009 2010 GsmEmssET - 2009 2010

s : Beow@srssisdar  41.000 40,000
Oy 2 }'

7% Barses 5056 : 11,000 15,000

Gg,u'JLorr'GoTLb
pargifien LkiE — 10,000 ' 30,000 25,000 ;
Glurg Hlane 40,000 40,000 Bl Cersgser:
un_’u@a;m ' o
Qurrgl sy 2.000 2,000 s_ameflsdT 20,000 24,000

@emu pLLs/6¢ 1000 1,200 sr&dlGUY 30,000 35,000
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Doy fews @Oy
ClummLiLser 2009 2010 Clenggisaer 2009 2010

€5 . €h. . - i\
) ' [
SLGILE USSTD 6,000 7,000 (PoEali 300 500 |
Qeig QFway
|
|
BLLILY | Quésid 1,200° 3,500
Quimmiyser : I
sLapGEmT - 12,000 11,000 |

WITESLET @85G 3,000 4,200

FaDUILILC L 5,000 5,800

UMRIGTSTIILD

aumd Guwe auanry 12,500 6,800
L)

81,500 88,000 81,500 88,000 '

(M) BenL(perm (PpSdled HUBLD WIHn BibHéams HDID

(<) afl awens wpmib LwaTUBHSSH W B oiflsemsamu (Q’)U_ll'l'l‘ﬂéh%.. N

24. Determine the average rate of return from the following data o?‘f

two machines A and B.

Machine A Machine B
Cost Rs. 56,125 Rs. 56,125
Annual estimated income

after depreciation and income tax
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Machine A Machine B

First year 3,375 11,335
Second year 5,375 9,375
Third year 7,375 7,375
Fourth year 9,375 5,375
Fifth year 11,375 3,375.
36,875 36,875
Estimated life in years - 5 5
Estimated salvage value 3,000 , 3,000
Average income tax rate 55% 55%
Additional working capital Rs. 5,000  Rs. 6,000

Depreciation has been charged on a stfaight line basis.
Garaumn sseudsmers Qsnar@ @updrmsear A womib B-uwller
gyl aumeumis elflsseng Srioreafss.
. Qusdiv A Quiphro B
DLESLD em. 56,125 em. 56,125
Gsuwiwmard whmib
eupomen auflé@ Wpsmer

g a@rhH wHIGH elmorarnid

oMb e 3,375 11,375
Qyemmb e 5,375 9,375 .
CPETDTLD <246t (H) 7,375 7,375 |
Brensmd e 9,375 © 5,375
BHSTD Harh - 11,375 . 3,375
| 36,875 36,875
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L
Qupdro A Qupdno B |
LEUSEH aumpey <y,amH &6 5 Ha
AL GuLL STy iy 3,000 3,000
synsfl eugponar aufl st 55% 55%
#H8® paL(p@mp (pged - - 5,000 . 6,000

CprGam () aperpuiedr Cauimantb M3 F TN Ga_lafzrr@Lb.

A\ ]
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